Math 104  

Old Test 4 (Chapters 8 & 9)

Name_____________________________

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.

1.
Let 
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a.
Give the domain of f.
(5 points)

b.
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(3 points)
2.
Simplify each of the following. 



a.
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(6 points)

b.
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(6 points)
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3.
Subtract 
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(6 points)

4.
Find the solution set for each equation. 


a.
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(8 points)






_________________





solution set


b.
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(8 points)






_________________






solution set

5.
Let 
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 represent the total amount of fuel (in millions of gallons) used in the United States during the year that is t years since 1970.  The U.S population can be modeled by 
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, where 
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 gives the population (in millions) t years after 1970.  Let 
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 be the mean amount of fuel used per person (in gallons per person) during the years since 1970.  Find an equation for M.  

(4 points)
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6.



(4 points each)


a.

The variable w varies directly as t.   If 
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[image: image13.wmf]2

t

=

, find the value of t when 
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t = ___________

b.
The variable p varies inversely as v.   If 
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, find the value of p when 
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p = ___________
7.
Rewrite 
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 using rational exponents.
(3 points)

8.
Rewrite 
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 using radical notation. 
(3 points)

9.
Simplify each expression.  Assume that each variable is nonnegative. 
(3 points each)


a.
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b.
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c.
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10.
Rationalize each denominator.  Simplify.
(4 points each)


a.
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b.
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11.
Let 
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a.
Find the domain of 
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(3 points)


b.
Sketch the graph of 
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(4 points)

12.
Find the solution set for each equation.
(8 points each)


a.

[image: image28.wmf]3113

x

+=







_________________






solution set


b.
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solution set
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